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I 1R mwn: nn nrML pav for a 11 when there are 2 o1 and only one is certainly Xnv:

a

b

Case: if 2 o were together in a secluded place and one witness, looking in from the outside, testified that
one of them had become nn &nv but couldn't identify which one (and they don't deny his claim):
Ruling: they both shave (after 30) and (between them) bring n7nv 127p and nxML 129p:
i Declaration: if I am the Xnv one, the N1nY 129p is yours and the NxMY 129p — mine
1 Butif you are the Xnv one, the n®mv 129p is yours and the 1710 1299 — mine
ii  Then: they count 30 days (and both avoid all m71 ™o R) and bring 1 n71v 127p between them
iii ~Declaration: if I was ®nv, that was my nRMV 127, it was your n1nv 127p and this is my nno 1299
iv  But if you were Rnv, that was your nRmV 117p, it was my n7n0 129p and this is your nnv 1279
challenge: each shaving, done to cover the doubt, runs the risk of violating napn (v. 1)
i Answer: (Y8mV) — case works if we are referring to a minor or a woman
1 Observation: YR1nw must hold wrIN 93 napn (clear-cutting the head) is a violation, else should be OK
2 Note: others read this comment of Y11 in re later n1wn - VYMN pav RNV pav with multiple shavings
Dispute: nanR 92 RTR /8NN : is an adult liable for wk1 napn of a minor?
i &2 127 liable, if shaver is male (v. 1 —-n'nwn %1 - q9pn Y1)>his wife shaved their child
ii 737N 92 78 ’T. only one who is personally bound (adult) may be source of violation
Suggestion: WRIN 93 napn is a Tannaitic dispute
i Explanation:
1 One Rnm1sees YWRI (V. 2 —re: y¥N) as countering general 1Y of v. 1
(a) In other words: he maintains that W& Y3 napn is a violation — verse in re: »71¥n comes to trump it
2 Other x117772: sees WK1 as countering prohibition in v. 3 — uniquely n
(a) In other words: he maintains that k71 93 napn is not a violation — only needed in case of 71
ii  alternative: all may hold wxin 55 napn is not a violation — v. 2 allows case where he cut then shaved
1 rejection: if so, no permission as per dictum of 9" - no trumping when both nwy and n"» may be fulfilled
iii  rather: all may hold wx N Y3 napn is a violation
1 2m xpr»ax2 already assumes that n”> nmT nwy (from v. 4) — used to trump nWY and n”> of 11 (v. 2 & v. 2)
(a) question: why doesn't author of 15t Xn»» 1 infer n”> nmT nwy from v. 4?
(i) Answer:needsv. 4 (& v.5) to elicit rule that wool & linen are universal 11019, others only j1'na
(b) Question: how does author of 15t kn»11 infer rule that nwyy N M7 VY (in re: 1N)?
(i) Answer: from wpt (v.1) - trumping v. 6 and v. 6
(c) Challenge: why doesn't author of 2nd xn»1 infer 0”9 nwWY AMT NVY from NPt
(i) Reverse challenge: why don't we apply nwy» n”> nmT nwy from either of these universally
(if) Answer (to both): 102 cannot lead to 71, since it only applies to limited segment of population
(d) Question: what does author of 2" xn»12 (who applies rule to 103 from 1) do with npr
(i) Answer: based on v. 6 — that a y17¥n needs to be shaved with a razor (nnnwn 12 YW MY7)
(e) Question: why does author of 1%t kn»12 use YWRI for 18Y and 1pr for NV XY — let one teach them?
(i) Answer: can't infer from jn3 (as above) and can't infer from 71 (since it is retractable)
(if) Additionally: can't be applied universally, as above
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I 2v's ruling re: depilatory: permissible to shave the body with a razor (i.e. like a razor, that removes the roots)
a  1nv "M (#1) - removing body hair entails man (evidently — 131297n)
b 3y 7 (#2) - removing body hair is a violation (n”nn) of v. 7
i dissent: other Rin applies prohibition to cross-dressing in order to mix with other gender
1 alternatively: »"aR1 — that a woman may not carry weapons; a man may not use makeup etc.
(a) exception: (jnm ") —a 911 (who isn’t otherwise caring for his appearance) — (rejected)
2 notes: of wRMNR whose hair wasn't there — because it fell out, not because they shaved it
3 questions: (posed by 17 to ®»n "7) — permissible to scratch at body hair (no), through the garment (yes),
through the garment during n%an (no - but this was rejected, since he isn’t touching his flesh)
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